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Solved Examples M C Q

1. Which of the following letters does not have

any line of symmetry?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_496JY2b1gGKQ

A E

B. T

C.N

D. X

Answer: C

° Watch Video Solution

2. Which of the following angles cannot be

constructed using ruler and compasses?


https://dl.doubtnut.com/l/_496JY2b1gGKQ
https://dl.doubtnut.com/l/_2SJD34CHsUdB

A.75°

B.15°

C.135°

D. 85°

Answer: D

° Watch Video Solution

Solved Examples In Examples 3 To 5 Fill In The

Blanks So That The Statements Are True



https://dl.doubtnut.com/l/_2SJD34CHsUdB

1. If B is the image of A in line | and D is the

image of Cin line |, then AC =

° Watch Video Solution

2.In Fig. 9.1, the line segments PQ and RQ have
been marked on a line | such that PQ = AB and

RQ = CD.Then AB - CD =



https://dl.doubtnut.com/l/_p73NmmBb7bK8
https://dl.doubtnut.com/l/_cfu5L6ClZ4Rw

& Wwatch Video Solution ]

3. The number of scales in a protractor for

measuring the angles is

o Watch Video Solution

Solved Examples True Or False

1. Using the set squares
30° — 60° and 45° — 45° —90° we can

draw an angle of 75°


https://dl.doubtnut.com/l/_cfu5L6ClZ4Rw
https://dl.doubtnut.com/l/_eiRO80frMpUh
https://dl.doubtnut.com/l/_z2dBMOczqy81

° View Text Solution

2. Acircle has only 8 lines of symmetry.

° Watch Video Solution

Solved Examples

1. Write the letters of the word ALGEBRA which

have no line of symmetry

o Watch Video Solution



https://dl.doubtnut.com/l/_z2dBMOczqy81
https://dl.doubtnut.com/l/_nXs9pc5O23uB
https://dl.doubtnut.com/l/_hUIkobqcfSOk

2. Draw a line segment equal to the sum of

two line segments given in Fig.

B

A
c__ D

o Watch Video Solution



https://dl.doubtnut.com/l/_hUIkobqcfSOk
https://dl.doubtnut.com/l/_hnkHeiwiUfv4

3. Draw an angle equal to the difference of two
angles given in Fig.

D 7

o Watch Video Solution

4. Complete Fig. 9.7 so that | is the line of

symmetry of the completed figure.


https://dl.doubtnut.com/l/_3dl8FUt4eakH
https://dl.doubtnut.com/l/_vrQVY2Nxf0o1

o Watch Video Solution

Exercise MCQ

1. In the following figures, the figure that is not

symmetric with respect to any line is:


https://dl.doubtnut.com/l/_vrQVY2Nxf0o1
https://dl.doubtnut.com/l/_6ZQODdGrHCi6

- /\ O

(n i {1 (v}

C. (i)

D. (iv)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_6ZQODdGrHCi6

2. The number of lines of symmetry in a

scalene triangle is

A.O

B.1

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hVY4XMo94TRs
https://dl.doubtnut.com/l/_7Xaui7Ryrpcv

3. The number of lines of symmetry in a circle

IS

A .0

B.2

C.4

D. more than 4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7Xaui7Ryrpcv

4. Which of the following letters does not have

the vertical line of symmetry?

A M

B.H

C.E

D.V

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nGA3BOM9G19W
https://dl.doubtnut.com/l/_SJbDpOOwfkOy

5. Which of the following letters have both

horizontal and vertical lines of symmetry?

A X

B.E

c.M

D.K

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SJbDpOOwfkOy

6. Which of the following letters does not have

any line of symmetry?

A M

B.S

C.K

D.H

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YGqtDnaZ5hoO
https://dl.doubtnut.com/l/_x45m0PcIsHzt

7. Which of the following letters has only one

line of symmetry?

A H

B. X

C.Z

D. T

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_x45m0PcIsHzt

8. The instrument to measure an angle is a

A. Ruler

B. Protractor

C. Divider

D. Compasses

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_72wT3CK5fMHc

9. The instrument to draw a circle is

A. Ruler

B. Protractor

C. Divider

D. Compasses

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uQ1Q3r0yYVU1

10. Number of set squares in the geometry box

IS

A.O

B.1

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7GsBshygE2bm
https://dl.doubtnut.com/l/_elE0rjWpqFtt

11. The number of lines of symmetry in a ruler

IS

A .0

B.1

C.2

D.4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_elE0rjWpqFtt

12. The number of lines of symmetry in a

divider is

A.O

B.1

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2aQSHrrvA1Bo
https://dl.doubtnut.com/l/_FkfTArwicKFX

13. The number of lines of symmetry in

compasses is

A .0

B.1

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FkfTArwicKFX

14. The number of lines of symmetry in a

protractor is

A.O

B.1

C.2

D. more than 2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_z8NY449b4yO2
https://dl.doubtnut.com/l/_X1zuERLng5uo

15. The number of lines of symmetry in a

45° — 45° — 90° set - square is

A .0

B.1

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_X1zuERLng5uo

16. The number of lines of symmetry in a

30° — 60° — 90° set square is

A.O

B.1

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_PhwSN0FeaD6k
https://dl.doubtnut.com/l/_JsmrzQ0967DM

17. The instrument in the geometry box having

the shape of a triangle is called a

A. Protractor

B. Compasses

C. Divider

D. Set-square

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JsmrzQ0967DM

Exercise In Questions 18 To 42 Fill In The Blanks

To Make The Statements True

1. The distance of the image of a point (or an
object) from the line of symmetry (mirror) is
as that of the point (object) from the

line (mirror).

o Watch Video Solution

2. The number of lines of symmetry in a

picture of Taj Mahal is



https://dl.doubtnut.com/l/_qKfBo4xElXcA
https://dl.doubtnut.com/l/_uWqZGjuV1HvV

o Watch Video Solution

3. The number of lines of symmetry in a

rectangle and a rhombus are

(equal/unequal).

o Watch Video Solution

4. The number of lines of symmetry in a

rectangle and a square are

(equal/unequal).

| & I


https://dl.doubtnut.com/l/_uWqZGjuV1HvV
https://dl.doubtnut.com/l/_Ii8rJjlzMDAz
https://dl.doubtnut.com/l/_UsXWuaAMN1P7

| ¥ Watch Video Solution |

5. If a line segment of length 5cm is reflected

in a line of symmetry (mirror), then its

reflection (image) is a

o Watch Video Solution

6. If an angle of measure 80° is reflected in a
line of symmetry, then the reflection is an

of measure

o Watch Video Solution



https://dl.doubtnut.com/l/_UsXWuaAMN1P7
https://dl.doubtnut.com/l/_uPFjzYJCwb6z
https://dl.doubtnut.com/l/_hkYQObmeYKdc

7. The image of a point lying on a line | with

respect to the line of symmetry | lies on

o Watch Video Solution

8.If B is the image of the point A with respect
to the line | and P is any point lying on |, then

the lengths of line segments PA and PB are


https://dl.doubtnut.com/l/_hkYQObmeYKdc
https://dl.doubtnut.com/l/_6IiDxFPE24Ps
https://dl.doubtnut.com/l/_4Zdc74rA4JyQ

o Watch Video Solution

9. The number of lines of symmetry in Fig. 9.11


https://dl.doubtnut.com/l/_4Zdc74rA4JyQ
https://dl.doubtnut.com/l/_twxpyF7M0u7g

o Watch Video Solution

10. The common properties in the two set-
squares of a geometry box are that they have

a angle and they are of the shape of



https://dl.doubtnut.com/l/_twxpyF7M0u7g
https://dl.doubtnut.com/l/_6TBZJSMKZcXp

I &9 Watch Video Solution I

1. The digits having only two lines of

symmetry are and

o Watch Video Solution

12. The digit having only one line of symmetry

° Watch Video Solution



https://dl.doubtnut.com/l/_6TBZJSMKZcXp
https://dl.doubtnut.com/l/_JjUYMvikqK3T
https://dl.doubtnut.com/l/_HX5rJX4OHfwp
https://dl.doubtnut.com/l/_BOTxYQFLbA4d

13. The number of digits having no line of

symmetry is

o Watch Video Solution

14. The number of capital letters of the English
alphabets having only vertical line of

symmetry is

o Watch Video Solution



https://dl.doubtnut.com/l/_BOTxYQFLbA4d
https://dl.doubtnut.com/l/_aH2FBfs5uU3V

15. The number of capital letters of the English
alphabets having only horizontal line of

symmetry is

o Watch Video Solution

16. The number of capital letters of the English
alphabets having both horizontal and vertical

lines of symmetry is

o Watch Video Solution



https://dl.doubtnut.com/l/_AlTQg5Gry889
https://dl.doubtnut.com/l/_l86R4tzzMGLG
https://dl.doubtnut.com/l/_nJKTB4ehfWBp

17. The number of capital letters of the English

alphabets having no line of symmetry

o Watch Video Solution

18. The line of symmetry of a line segment is

the bisector of the line segment.

° Watch Video Solution



https://dl.doubtnut.com/l/_nJKTB4ehfWBp
https://dl.doubtnut.com/l/_u67yJGK9pW67

19. The number of lines of symmetry in a

regular hexagon is

o Watch Video Solution

20. The number of lines of symmetry in a

regular polygon of n sides is

o Watch Video Solution



https://dl.doubtnut.com/l/_aF7rw1413hBB
https://dl.doubtnut.com/l/_cLUjpCjOJLhz

21. A protractor has line/lines of

symmetry.

o Watch Video Solution

22. A 30° —60° —90° set - square has

line / lines of symmetry

o Watch Video Solution



https://dl.doubtnut.com/l/_wz0r89wjz84j
https://dl.doubtnut.com/l/_LndLswYB3F6O

23. A 45° —45° —90° set - square has

line / lines of symmetry

o Watch Video Solution

24. A rhombus is symmetrical about

o Watch Video Solution

25. A rectangle is symmetrical about the lines

joining the of the opposite sides.



https://dl.doubtnut.com/l/_uF9QEM5HdBQZ
https://dl.doubtnut.com/l/_7os5LkJuYGPF
https://dl.doubtnut.com/l/_WoFASqYgAgZV

o Watch Video Solution

Exercise In Questions 43 61 State Whether The

Statements Are True T Or False F

1. Aright triangle can have at most one line of

symmetry.

° Watch Video Solution

2. A kite has two lines of symmetry.

l o Watch Video Solution


https://dl.doubtnut.com/l/_WoFASqYgAgZV
https://dl.doubtnut.com/l/_1WWuQiOSEpYy
https://dl.doubtnut.com/l/_WUeGwPzFKyjK

3. A parallelogram has no line of symmetry.

° Watch Video Solution

4. If an isosceles triangle has more than one
line of symmetry, then it need not be an

equilateral triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_WUeGwPzFKyjK
https://dl.doubtnut.com/l/_ris2ga1PE17s
https://dl.doubtnut.com/l/_AK5vHiYfYruB

5. If a rectangle has more than two lines of

symmetry, then it must be a square.

o Watch Video Solution

6. With ruler and compasses, we can bisect any

given line segment.

o Watch Video Solution



https://dl.doubtnut.com/l/_jSczag9DQa01
https://dl.doubtnut.com/l/_LroB40E5CZoH

7. Only one perpendicular bisector can be

drawn to a given line segment.

o Watch Video Solution

8. Two perpendiculars can be drawn to a given

line from a point not lying on it.

o Watch Video Solution



https://dl.doubtnut.com/l/_q4jMOuQKREun
https://dl.doubtnut.com/l/_08t3DSevnL5e

9. With a given centre and a given radius, only

one circle can be drawn.

° Watch Video Solution

10. Using only the two set-squares of the

geometry box, an angle of 40° can be drawn.

o Watch Video Solution



https://dl.doubtnut.com/l/_UWpdFniL6uxC
https://dl.doubtnut.com/l/_7DHlF2cMYcW4

1. Using only the two set-squares of the

geometry box, an angle of 15° can be drawn.

° Watch Video Solution

12. If an isosceles triangle has more than one
line of symmetry, then it must be an

equilateral triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_7lNvqxrkeATQ
https://dl.doubtnut.com/l/_LunUGqoVlmcK

13. A square and a rectangle have the same

number of lines of symmetry.

° Watch Video Solution

14. A circle has only 16 lines of symmetry.

° Watch Video Solution

15. A 45° —45° — 90° set-square and a

protractor have the same number of lines of


https://dl.doubtnut.com/l/_ivLprO5np1dJ
https://dl.doubtnut.com/l/_YRAvP7CbXRzz
https://dl.doubtnut.com/l/_vbpVRYSyhBsZ

symmetry

o Watch Video Solution

16. It is possible to draw two bisectors of a

given angle.

° Watch Video Solution

17. A regular octagon has 10 lines of symmetry.

° Watch Video Solution



https://dl.doubtnut.com/l/_vbpVRYSyhBsZ
https://dl.doubtnut.com/l/_5LHJ1TTBD4zk
https://dl.doubtnut.com/l/_3zL0hty1zDNd

18. Infinitely many perpendiculars can be

drawn to a given ray.

o Watch Video Solution

19. Infinitely many perpendicular bisectors can

be drawn to a given ray.

o Watch Video Solution

Exercise


https://dl.doubtnut.com/l/_9XTYM1udnBE2
https://dl.doubtnut.com/l/_40Sot8RUTOSe
https://dl.doubtnut.com/l/_5yoCsD6RbAND

1. Is there any line of symmetry in the Fig? If

yes, draw all the lines of symmetry

A

° Watch Video Solution



https://dl.doubtnut.com/l/_5yoCsD6RbAND

2. PQRS is a rectangle. State the lines

symmetry of the rectangle.
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o Watch Video Solution



https://dl.doubtnut.com/l/_Ftl9lcKKtAhN

3. Write all the capital letters of the English
alphabets which have more than one lines of

symmetry.

o Watch Video Solution

4. Write the letters of the word ‘MATHEMATICS’

which have no line of symmetry.

° Watch Video Solution



https://dl.doubtnut.com/l/_juxAQ48ttJXe
https://dl.doubtnut.com/l/_gtTKtpUcaIcf

5. Write the number of lines of symmetry in

each letter of the word ‘SYMMETRY'.

o Watch Video Solution

6. Match the following:

Shape Number of lines of symmetry
1) Isosceles triangle a) 6
i Square b 5
(1) Kite ) 4
[Iv) Equllateral triangle (d)y 3
{v) Rectangle {c) 2
[wi) Regular hexagon m 1
(vii) Sealene triangle (g O

o Watch Video Solution



https://dl.doubtnut.com/l/_b74uwbSih0e9
https://dl.doubtnut.com/l/_V5MZ4I2wTQa5

7. Open your geometry box. There are some
drawing tools. Observe them and complete

the following table:

Name of the tool Number of lines

of symmetry

(1) The Ruler

(i)  The Divider

(i) The Compasses
(vl The Protactor
vl Triangular plece with two equal sides

vl Triangular piece with unegual sldes

° Watch Video Solution

8. Draw the images of points A and B in line |

and name them as A and B' respectively.


https://dl.doubtnut.com/l/_ieP9PHNPe4Re
https://dl.doubtnut.com/l/_yjay9VSMmK8i

Measure AB and A' B'. Are they equal?

!

° Watch Video Solution

9. The point C is the image of point A in line |

and line segment BC intersects the line | at P.


https://dl.doubtnut.com/l/_yjay9VSMmK8i
https://dl.doubtnut.com/l/_lHTy1Z70bGJ0

Is the image of P in line | the point P itself ?

0 Watch Video Solution

10. The point C is the image of point Ain line |

and line segment BC intersects the line | at P.


https://dl.doubtnut.com/l/_lHTy1Z70bGJ0
https://dl.doubtnut.com/l/_M5cCzAJALdWo

Is PA=PC?

o Watch Video Solution

11. The point C is the image of point A in line |

and line segment BC intersects the line | at P.


https://dl.doubtnut.com/l/_M5cCzAJALdWo
https://dl.doubtnut.com/l/_QlS8OgSmEUz0

IsPA+PB=PC+PB?

o Watch Video Solution

12. Complete the figure so that line | becomes

the line of symmetry of the whole figure


https://dl.doubtnut.com/l/_QlS8OgSmEUz0
https://dl.doubtnut.com/l/_M5kvlBEJjhAj

[r

o Watch Video Solution

13. Draw the images P', Q' and R' of the point P,
Q and R respectively in the line n (Fig . 9. 18).
Join P Q" and Q' R' to form an angle P' Q' R’

Measure ZPQR and ZP'Q'R’ . Are the two


https://dl.doubtnut.com/l/_M5kvlBEJjhAj
https://dl.doubtnut.com/l/_JQMK89cakimk

angles equal ?

P

R

o Watch Video Solution

14. Complete Figure by taking | as the line of

symmetry of the whole figure.


https://dl.doubtnut.com/l/_JQMK89cakimk
https://dl.doubtnut.com/l/_Npi3RTuMQ8VG

o Watch Video Solution

15. Draw a line segment of length 7cm. Draw
its perpendicular bisector, using ruler and

compasses.

o Watch Video Solution



https://dl.doubtnut.com/l/_Npi3RTuMQ8VG
https://dl.doubtnut.com/l/_hiWn5a9N9l8n
https://dl.doubtnut.com/l/_f7mEXeLBgBLo

16. Draw a line segment of length 6.5cm and
divide it into four equal parts, using ruler and

compasses.

o Watch Video Solution

17. Draw an angle of 140° with the help of a
protractor and bisect it using ruler and

compasses.

o Watch Video Solution



https://dl.doubtnut.com/l/_f7mEXeLBgBLo
https://dl.doubtnut.com/l/_KSFWfifbziWc

18. Draw an angle of 65° and draw an angle
equal to this angle, using ruler and

compasses.

o Watch Video Solution

19. Draw an angle of 80° using a protractor
and divide it into four equal parts, using ruler
and compasses.Check your construction by

measurement.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZN53vW3mEQF2
https://dl.doubtnut.com/l/_TB5XvLTeDUqv

20. Draw a perpendicular to | through P, using
(i) set squares (ii) Protractor (iii) ruler and
compasses. How many such perpendiculars are

you able to draw?

q-—F—-H

o Watch Video Solution

21. Draw a perpendicular from P to line m,

using (i) set squares (ii) Protractor (iii) ruler


https://dl.doubtnut.com/l/_TB5XvLTeDUqv
https://dl.doubtnut.com/l/_VBuCcEqe6kPf
https://dl.doubtnut.com/l/_oExXB9zUwpQ2

and compasses. How  many  such
perpendiculars are you able to draw?
s [F

i * T

o Watch Video Solution

22. Draw a circle of radius 6cm using ruler and
compasses. Draw one of its diameters. Draw
the perpendicular bisector of this diameter.
Does this perpendicular bisector contain

another diameter of the circle?


https://dl.doubtnut.com/l/_oExXB9zUwpQ2
https://dl.doubtnut.com/l/_BXENmnhPmEwl

° Watch Video Solution

23.Bisect /XY Z

Z x

o Watch Video Solution



https://dl.doubtnut.com/l/_BXENmnhPmEwl
https://dl.doubtnut.com/l/_TJis92nUivzj
https://dl.doubtnut.com/l/_HfG3TlkfXgkw

24. Draw an angle of 60° using ruler and
compasses and divide it into four equal parts.

Measure each part.

o Watch Video Solution

25. Bisect a straight angle, using ruler and

compasses. Measure each part.

° Watch Video Solution



https://dl.doubtnut.com/l/_HfG3TlkfXgkw
https://dl.doubtnut.com/l/_ILawEYBwDy73

26. Bisect a right angle, using ruler and
compasses. Measure each part. Bisect each of
these parts. What will be the measure of each

of these parts?

o Watch Video Solution



https://dl.doubtnut.com/l/_q2gnjeUjcfYX

27. What is the measure of Z/DBC(C?

° Watch Video Solution



https://dl.doubtnut.com/l/_JVRUlbfi8ncI

28. Draw a line segment of length 6cm.
Construct its perpendicular bisector. Measure

the two parts of theline segment.

o Watch Video Solution

29. Draw a line segment of length 10cm. Divide
it into four equal parts. Measure each of these

parts.

o Watch Video Solution



https://dl.doubtnut.com/l/_HTML514oTDY9
https://dl.doubtnut.com/l/_VrGjV3PGJR3S

